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a—F dh Fik | PERR (kg) &% (1) =il i Sl PE (BAL)
39630 FEw@o~A ¥ 6 1, 404 76 76 65 | B 2051
31700 F ¥y 180 15, 768 1, 080 864 648 | BN 1877 — A
31900 X 3 2, 592 864 864 864 | BN 3kg
34330 E/pd 93 17, 653 59 39 22 BN 4654
34400 k= b 10 3, 402 356 356 324 | BN 10kg
34100 | HK 38 6, 804 43 38 22| BN 1904
34140 TUZERR N 10 2,214 49 49 38| B 504
34200 [ 70 8, 748 173 119 108 | B 70kg
34570 /XTF U A 2 691 43 43 43 B 1618
36200 HEEhE 60 15,012 292 248 216 | BN 60kg
36600 7-¥nE 60 11, 232 194 184 184 | B 60kg
34700 5 bHAZL 36 7,128 59 59 59 BN 1204
34930 LA 52 4, 688 43 43 5 BMN 17474
34980 ~bH ¥ 2 410 97 97 59 | B 54
35940 AETEIEAE 26 18, 522 756 702 702 | BN 26kg
34800 B 5 32 19, 219 65 65 54| BN 323% v b
48000 | U 110 8, 305 540 432 270 | B 221#
49470 Ry a7 — 37 27, 086 146 54 54| BN 3741E
71011 AL —4 18, 403 43 32 11BN 64074
71150 | LIE 972 54 54 43| B 2051
30100 7ZWVWZ A 2L 30 9,072 3,024 3,024 3,024 | dbiEE 37r—2=
£ 30300 AZ 120 16, 848 1,512 1,512 1,296 | F % 1247 — A
30300 A H L 50 9,720 1,944 1, 944 1,944 | El% 57—
31100 H¥ 60 4,320 1,080 1,080 1,080 | E % 44— R
33500 BT HHE 1 594 59 59 59 | t& i 1048
33810 FHREE 8 6, 480 3, 240 3, 240 3,240 IR B 24— R
37440 >\ 2 896 896 896 896 |5 17—
53712 HVUF2H L 5 1,534 1,534 1,534 1,534 | K%y 1r—=
Y5005 |4 7K3EAN 5 1,534 1,534 1,534 1,534 | K%y 1 —=
31700 Fy v 180 12, 096 864 648 540 | BERS 184 — A
31730 7V —rAR—v 50 3, 780 756 756 756 |EERE 57 —A
31800 FHNAE 4 3,024 151 151 151 | ER B 2048
31950 HAX 12 1,728 432 432 432 | ##[H 44—
31930 ZhE 3 1, 944 65 65 65 |t 1] 3048
34300 724 2L 25 7, 668 1,728 1, 404 1,404 £ 54— A
34300 729 2L 10 5, 400 2, 700 2, 700 2, 700 | € 24—
34460 I =Lt F & S 14 9,677 162 130 130 | EEIR S 7232 7
34100 | HK 30 7,776 1,404| 1,404 1,188 RS 64—
34520 FRE—< L 4 2,160 1, 080 1, 080 1,080 |BEE B 27—
34520 JRE—< A L 1,512 1,512 1,512 1,512 IR E 17—
36200 FEEHE 2L : 30 7,716 2,592 2, 592 2,592 | R IF 3r— -
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a—K dh%h Pk w8 (F) & o fi B (BAL)
37200 L X 9 A 2L 12 5,508 836 1,836 836 34—
33400 L ¥ R 18 4,795 140 130 130 36/
38100 LW 8 4, 266 65 49 43 80,5y 7
34764 TA—)LRT v o 3L 10 108 54 54 54 24— A
31500 /MAYE 4 3, 780 3, 780 3,780 3, 780 17—
31500 /PHAYE 8 5,076 130 130 124 4048
32500 ZolE 1 259 22 22 22 123K
37560 BRIE 1 2, 592 324 324 324 8/ s
37600 Fx H DS 1 1,814 130 130 130 143y 7
36400 7230, 2L 10 5, 184 5,184 5,184 5, 184 1 —=
38400 Z D EFH 1,512 1,512 1,512 1,512 17—
38521 7L UE 2,592 86 86 86 304%
Y4008 /N7 R B A 7,128 238 238 238 3075y 7
41410 L EV 15 10,260 10,260| 10,260 10, 260 1r—=
42320 Y aFI— R 10 6, 696 6, 696 6, 696 6, 696 1 —=
44000 & % 2L 4 2,851 238 238 238 123y 7
48000 T 64 4,968 432 432 324 1218
48000 U 84 5,184 432 432 432 121&
49100 NFF 72 19, 872 3, 888 3, 240 2,916 64— A
49470 Ny g T A—Y 3 1,080 119 108 108 1078y 7
aat 1,814 401,317
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